



YP

September 23, 2016

Project No: Invoice No: 10.001123.0000

0266100

Jillian Peterson Fort Bend County 301 Jackson Street Richmond, TX 77469

Project

10.001123.0000

Precinct 3 Mobility PO# 135759

TOTAL CONTRACT AMOUNT: \$611,000.00 AMOUNT INVOICED TO DATE: \$100,156.14 REMAINING FUNDS AVAILABLE: \$510,843.86

Professional Services from August 27, 2016 to September 23, 2016

Professional Personnel

	Quantity	Rate	Amount
Document Supervisor Mintra Rickelman	14.0	80.00	1,120.00
Project Manager Arlene Kaplan	22.0	85.00	1,870.00
Right of Way Agent (1-5 Years) Suzyette Romoser	28.0	65.00	1,820.00
Sr. Right of Way Agent Paul Quinn	30.0	75.00	2,250.00

Total Labor 7,060.00

Reimbursable Expenses

Mileage Copies Postage

Total Reimbursables

104.54 45.60 26.50

176.64 176.64

Total this Invoice

\$7,236.64

OK

PERCHERON INVOICE DETAIL

Billing Period from August 27, 2016 to September 23, 2016

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Rickelman, Mi	ntra				ratoj											
9/1/2016	2.000	80.00	160.00													160.00
Work Detail	9.1.2016 -	Mintra Ric	kelman - Fo	rt Bend Co	ounty - Gas	ton Road - p	prepared fina	al offer letter	s							_
9/2/2016	3.000	80.00	240.00													240.00
Work Detail				rt Bend Co	ounty - Gas	ton Road - p	orepared fina	al offer letter	s 							
9/8/2016	1.000	80.00	80.00	4 D 4 O		D1					. D40					80.00
Work Detail 9/12/2016	2.000	80.00	160.00	rt Bend Co		on Road - a		of offers draf	ed and se	nt to P4 and	1 P 10.					160.00
Work Detail				ort Bend (County - Ga	ston Road -	prepared fir	nal offer lette	ers for P03	in English	and Spanis	h				160.00
9/19/2016	4.000	80.00	320.00													320.00
Work Detail	9.19.2016			ort Bend C	County - Ga	ston Road -	prepared a	nd mailed ou	it final offe	r letters for	P11, P15, a	and P20.				
9/21/2016	2.000	80.00	160.00													160.00
Work Detail	9.21.2016	- Mintra Ri	ickelman - F	ort Bend C	County - Ga	ston Road -	prepared a	nd sent acce	ptance of	offer forms	to P06 and	P07.				
Total Rickelman, Mintra:	14.000		1,120.00													1,120.00
Kaplan, Arlene	9															
8/27/2016	2.000	85.00	170.00	26.00	14.04										14.04	184.04
Work Detail				lomoser to	meet with	Elena Lara	for P20. We	discussed t	ne possibil	ity of her s	elling the e	ntire propert	y to FBC; s	hared the ne	w survey with	the take
8/31/2016	2.000	18.5 feet d 85.00	170.00													170.00
Work Detail	Arlene Ka	plan: Starte	ed preparation	on of the c	ounteroffer	for P06. Re	equested so	me additiona	l input from	m the agent						
9/1/2016	2.000	85.00	170.00													170.00
Work Detail 9/4/2016	Arlene Ka	plan: Discu 85.00	ssed counter	eroffers wit	h agents w	orking to ge	t the numbe	rs down; rev	iewed doc	uments the	y presented	for counter	offers			340.00
Work Detail 9/8/2016	Arlene Ka	plan: Work	ed on four c				oleted P11 a	and will send	to Bryan o	on Tuesday	Will finish	up three mo	ore by Wedr	nesday and s	ubmit to Brya	an.
Work Detail	4.000	85.00	340.00	34.00	10	256	cole Prior	cont mo a re	port hold I	iko to uso t	trab the n	roiget financ	os I said l'	d complete it	18.36 for him as re	358.36
9/9/2016								age all consi								170.00
Work Detail				ble Bryan	requested;	spoke to a	igents abou	t a couple of	parcels; re	eceived cou	nteroffers t	o be prepar	ed for FBC.			
9/12/2016	2.000	85.00	170.00		72 37											170.00
Work Detail 9/19/2016	2.000	85.00	ffers and sp	readsheet	for bryan											170.00
Work Detail 9/22/2016	Arlene Kar 2.000	plan: Resp 85.00	170.00	an Nortor	's rmail wit	h authority t	o move forw	ard on coun	teroffers; v	vorked with	agents;					170.00
Work Detail	Arlene Ka	plan: Talke	d to propert	y owners a	bout their	counteroffer	s so that I co	ould write the	em up for t	he County						
Total Kaplan, Arlene:	22.000		1,870.00	60.00	32.40										32.40	1,902.40
Romoser, Suz	yette															
8/27/2016	2.000	65.00	130.00													130.00
Work Detail 8/29/2016				owner to d	iscuss new	survey and	needed righ	nt of way for	P19 and P	20.						260.00
Work Detail	Suzy Rom	oser - Assi	isted proper	y owners	with counte	r-offer for P	11; P13 and	P21								
8/31/2016 Work Detail		65.00 loser - To/f	130.00 rom meeting	13.60 w/proper			s counter-off	fer.							7.34	137.34
9/1/2016	4.000	65.00	260.00													260.00
Work Detail 9/7/2016		65.00	pared counter 520.00	er-offer pa	ckets for P1	1; P13 and	P21 for sub	mittal and co	nsideratio	n and subn	ission to F	BC.				520.00
Work Detail 9/14/2016		65.00	pared counter 260.00	er-offers fo	r P03; P13;	P12. Sent	form for sigi	nature to pro	perty own	ers and upo	ated logs a	ind files.				260.00
Work Detail 9/15/2016		oser - prep	pared counter	er offers fo	r P03 and F	212 for subr	nittal to FB 0	County for co	nsideratio	n and revie	w. 					260.00
Work Detail				er offer for	P13 for del	ivery to FB	County for re	eview and co	nsideratio	n. Other ad	ministrative	tasks.				_,,,,,,
Total Romoser,	28.000		1,820.00	13.60											7.34	1,827.34

Project	10.	00112	23.0000	F	BC-Pre	ecinct 3	Mobilit	y PO#	13575	9		In	voice	02	266100	
					Bil	ling Period	from Augu	st 27, 201	to Septen	nber 23, 20	16					
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Quinn, Paul																
8/27/2016	6.000	75.00	450.00													450.00
Work Detail	8/27/2016	- FBC - 0	Gaston Road	- P6, P7, P	8. Prepara	ition and sul	bmission of	counter of	ers.							
8/30/2016	4.000	75.00	300.00													300.00
Work Detail				- P5 - Larry	/ Lu - Spok	e with Mr. Li	u about the p	oroject and	began worl	k on counte	r offer. Dis	cussed with	him what w	ould be nee	ded as suppo	rt and that
9/2/2016	2.000		ent this soon. 150.00													150.00
Work Detail	9/2/2016 counter of			P15 and 1	6 - Spoke v	vith Scott Wi	illiams regar	ding the ac	quisition are	ea and how	is property	would be af	fected. We	are to meet	next week an	d have
9/7/2016	2.000	75.00														150.00
Work Detail	9/7/2016	- FBC - G	aston Road -	P10 - Społ	ce with Mr.	Le and disc	ussed projec	t and got a	cceptance	on his IOL.						
9/8/2016	2.000	75.00	150.00													150.0
Work Detail	9/8/2016	- FBC - G	aston Road -	P8 - Entere	erd data int	o AMPS for	this parcel.									
9/14/2016	4.000	75.00	300.00	40.00	21.60	<u> </u>									21.60	321.6
Work Detail											P6 - Arthu	r Wilson - di	scussed wit	h Mr. Wilsor	his counter o	ffer and
9/15/2016	4.000	75.00	ng. P7 - Spok 300.00	40.00			counter and	that he wo	ould be out	or town.					21.60	321.6
Work Detail	donate his	s property		ring counte											dian cut in if he gning. I am to	
9/21/2016	6.000	75.00	450.00	40.00	21.60	3									21.60	471.60
Work Detail	9/21/2016	- FBC - 0	Gaston Road	Project - M	et with Larr	y Arnold an	d received h	is offer acc	eptance let	ter. Sent th	e acceptar	ice letters to	Eduardo Ba	aretto and A	rthur Wilson.	
Total Quinn, Paul:	30.000		2,250.00	120.00	64.80										64.80	2,314.80
Expenses, Ge	neral															
8/22/2016													26.50		26.50	26.50
Total Expenses, General:													26.50		26.50	26.50
Katy Color Co	pies															
												22.65			22.65	22.65
9/23/2016												22.65			22.65	22.65
Total Katy	1															
STORY STORY STORY	opy Counts															
Total Katy Color Copies:	opy Counts											22.95			22.95	22.95
Total Katy Color Copies: Katy Office Co	opy Counts											22.95 22.95			22.95 22.95	22.95 22.9 5

	Perc	Percheron Katy Office				
	Сору Сог	Copy Count 9/10/16 - 9/23/16	3/16			
Shared Account Parent Name	Shared Account Parent Code	unt Parent Code Job Type Color Pages Total Color Grayscale Pages Total B/W	iges Total Colo	r Grayscale Pages	Total B/W	
Precinct 3 Mobility	10.001123.0000	PRINT	151 \$ 22.65	.65	- \$0	

	The second secon						
	Percheron Katy Office	, Office					
	Copy Count 8/27-9/09-2016	/09-201	9				
Shared Account Parent Name	Shared Account Parent Code Job Type Color Pages Total Color Grayscale Total B/W	Job Type	Color Pages	Fotal Color	Grayscale FTota	al B/W	
Precinct 3 Mobility	10.001123.0000	PRINT	153	153 \$ 22.95	\$ 0		

STAMPS.COM Fort Bend Cty. Precinct 3 Mobility

GPJ994

Date	Cost	Credit	Balance	Type
8/26/2016	\$5.75	\$0.00	\$85.33	Print
8/26/2016	\$5.75	\$0.00	\$91.08	Print
8/26/2016	\$5.75	\$0.00	\$96.83	Print
8/26/2016	\$5.75	\$0.00	\$2.58	Print
9/2/2016	\$3.50	\$0.00	\$12.53	Print
Total	\$26.50			

Prospect: John Maket
Client: 9+ Bed Court
Description: postag

Bull Amount: 2000